Quantity Symbol | Value
Coulombs Constant T 8.98 x 10° Nm?/C?
Electron Mass Me 9.1 x 1073 kg
Proton Mass my 1.67 x 10727kg
Electron Charge e -1.6x1071°C
Electron Volt eV 1.6 x 10719
Permitivity € 8.85 x 10712 &,
Magnetic Permeability | u, 47 x 107" N - A2
Speed of Light c 3.0 x 108 m/s
Planck’s Constant h 6.6 x 10~34m%kg /s
Planck’s Constant/2m | & 1.05 x 10~3*m?%kg /s
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For n = 3 we will quote the R,,; only. For the necessary table of ©;,, and ®,,

see Eq. 3. Here
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For potential V = % k22 the lowest wave functions
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